Display 3.4 Percentage of 95% confidence intervals that are successful when the two

populations are nonnormal (but with same shape and SD, and equal sample
sizes) (each percentage is based on 1,000 computer simulations)
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5 95.5 95.4 95.2 98.3 94.5
10 95.5 95.4 95.2 98.3 946
25 95.3 - 953 95.1 98.2 94.9
50 95.1 95.3 95.1 98.1 95.2
100 94.8 95.3 95.0 98.0 95.6

Display 3.5 F’ercentage of successful 95% confidence intervals when the two populations
have different standard deviations (but are normal) with possibly different
sample sizes (each percentage is based on 1,000 computer simulations)
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